Korean J. Math. **28** (2020), No. 3, pp. 613–621 http://dx.doi.org/10.11568/kjm.2020.28.3.613

# SOLUTION AND STABILITY OF AN *n*-VARIABLE ADDITIVE FUNCTIONAL EQUATION

## VEDIYAPPAN GOVINDAN, JUNG RYE LEE\*, SANDRA PINELAS, Abdul Rahim Noorsaba, and Ganapathy Balasubramanian

ABSTRACT. In this paper, we investigate the general solution and the Hyers-Ulam stability of n-variable additive functional equation of the form

$$\Im\left(\sum_{i=1}^{n} (-1)^{i+1} x_i\right) = \sum_{i=1}^{n} (-1)^{i+1} \Im(x_i),$$

where n is a positive integer with  $n \ge 2$ , in Banach spaces by using the direct method.

## 1. Introduction

The stability problem of functional equations originated from a question of Ulam [16] concerning the stability of group homeomorphisms. Hyers [7] gave a first affirmative partial answer to the question of Ulam for Banach spaces. Hyers' theorem was generalized by Aoki [2] for additive mappings and by Rassias [13] for linear mappings by considering an unbounded Cauchy difference (see [1,4,6,10,12,14,15]). A generalization of the Rassias theorem was obtained by Gavruta by replacing the unbounded Cauchy difference by a general control function in the spirit of Rassias' approach (see [3,5,7-9,11]).

Received April 14, 2020. Revised September 14, 2020. Accepted September 15, 2020.

<sup>2010</sup> Mathematics Subject Classification: 139B52, 32B72, 32B82, 46H25.

Key words and phrases: Additive functional equation; Hyers-Ulam stability. \* Corresponding author.

<sup>©</sup> The Kangwon-Kyungki Mathematical Society, 2020.

This is an Open Access article distributed under the terms of the Creative commons Attribution Non-Commercial License (http://creativecommons.org/licenses/by -nc/3.0/) which permits unrestricted non-commercial use, distribution and reproduction in any medium, provided the original work is properly cited.

The Cauchy additive functional equation is of the form

$$\Im(x+y) = \Im(x) + \Im(y). \tag{1.1}$$

In this section, we introduce and investigate the general solution and the Hyers-Ulam stability of the additive functional equation of the form

$$\Im\left(\sum_{i=1}^{n} (-1)^{i+1} x_i\right) = \sum_{i=1}^{n} (-1)^{i+1} \Im(x_i), \qquad (1.2)$$

where n is a positive integer with  $n \ge 2$ , in Banach spaces by using the direct method. Here after, throughout this paper, let us consider X and Y to be a normed space and a Banach space, respectively. Assume that n is a positive integer with  $n \ge 2$ . For convience,

$$D\Im(x_1, x_2, \cdots, x_n) := \Im\left(\sum_{i=1}^n (-1)^{i+1} x_i\right) - \sum_{i=1}^n (-1)^{i+1} \Im(x_i)$$

for all  $x_1, x_2, \cdots, x_n$ .

### 2. Solution of the additive functional equation (1.2)

In this section, we investigate a general solution of the additive functional equation (1.2).

LEMMA 2.1. If a mapping  $\Im : X \to Y$  satisfies the functional equation (1.1) if and only if  $\Im : X \to Y$  satisfies the functional equation (1.2) under the assumption that if n is odd then  $\Im(0) = 0$ .

*Proof.* Setting (x, y) = (0, 0) in (1.1), we get  $\Im(0) = 0$ . Replacing (x, y) by (x, -x) in (1.1), we have  $\Im(-x) = -\Im(x)$  for all  $x \in X$ . So

$$\Im(x-y) = \Im(x) + \Im(-y) = \Im(x) - \Im(y) \tag{2.3}$$

for all  $x, y \in X$ . It follows from (1.1) and (2.3) that (1.2) holds for  $n \ge 2$ . Assume that n is even. Letting  $x_1 = x_2 = \cdots = x_n = 0$  in (1.2), we

Assume that *n* is even. Letting  $x_1 = x_2 = \cdots = x_n = 0$  in (1.2), we get  $\Im(0) = 0$ . Letting  $x_1 = x_3 = x_4 = \cdots = x_n = 0$  in (1.2), we get  $\Im(-x_2) = -\Im(x_2)$  for all  $x_2 \in X$ . Letting  $x_3 = x_4 = \cdots = x_n = 0$  in (1.2), we get

$$\Im(x_1 - x_2) = \Im(x_1) - \Im(x_2) = \Im(x_1) + \Im(-x_2)$$
(2.4)

for all  $x_1, x_2 \in X$ . Replacing  $(x_1, x_2)$  by (x, -y) in (2.4), we get

$$\Im(x+y) = \Im(x) + \Im(y)$$

Solution and stability of an *n*-variable additive functional equation 615

for all  $x, y \in X$ .

Assume that n is odd. Letting  $x_1 = x_3 = x_4 = \cdots = x_n = 0$  in (1.2), we get  $\Im(-x_2) = -\Im(x_2)$  for all  $x_2 \in X$ . So

$$\Im(x_1 - x_2) = \Im(x_1) - \Im(x_2) = \Im(x_1) + \Im(-x_2)$$
(2.5)

for all  $x_1, x_2 \in X$ . Replacing  $(x_1, x_2)$  by (x, -y) in (2.5), we get

$$\Im(x+y) = \Im(x) + \Im(y)$$

for all  $x, y \in X$ .

## 3. Stability results for even positive integers in (1.2)

In this section, we present the Hyers-Ulam stability of the functional equation (1.2) for even positive integers n. Assume that n is even.

THEOREM 3.1. Let  $\theta: X^n \to [0,\infty)$  be a function such that

$$\Phi(x_1,\cdots,x_n) := \sum_{k=0}^{\infty} \frac{\theta\left(n^k x_1, n^k x_2, \cdots, n^k x_n\right)}{n^k} < \infty$$
(3.6)

for all  $x_1, x_2, \dots, x_n \in X$ . Let  $\Im : X \to Y$  be a mapping satisfying the inequality

$$\left\|\Im\left(\sum_{i=1}^{n} (-1)^{i+1} x_i\right) - \sum_{i=1}^{n} (-1)^{i+1} \Im(x_i)\right\| \le \theta(x_1, x_2, \dots, x_n) \quad (3.7)$$

for all  $x_1, x_2, \ldots, x_n \in X$ . There exists a unique additive mapping  $A : X \to Y$  which satisfies

$$\|\Im(x) - A(x)\| \le \frac{1}{n} \Phi(x, -x, x, -x, \cdots, \cdots, x, -x)$$
(3.8)

for all  $x \in X$ . The mapping A(x) is defined by

$$A(x) = \lim_{k \to \infty} \frac{\Im\left(n^k x\right)}{n^k}$$

for all  $x \in X$ .

*Proof.* Letting  $(x_1, x_2, \ldots, x_{n-1}, x_n) = (x, -x, x, -x, \cdots, x, -x)$  in (3.7), we have

$$\|\Im(nx) - n\Im(x)\| \le \theta(x, -x, x, -x, \dots, x, -x)$$
(3.9)

for all  $x \in X$ . It follows from (3.9) that

$$\left\|\frac{\Im(nx)}{n} - \Im(x)\right\| \le \frac{1}{n}\theta(x, -x, x, -x, \cdots, x, -x)$$
(3.10)

for all  $x \in X$ . Replacing x by  $n^{l-1}x$  in (3.10) and dividing by  $n^{l-1}$ , we obtain

$$\left\|\frac{\Im(n^{l}x)}{n^{l}} - \frac{\Im(n^{l-1}x)}{n^{l-1}}\right\|$$

$$\leq \frac{1}{n^{l}}\theta(n^{l-1}x, -n^{l-1}x, n^{l-1}x, -n^{l-1}x, \cdots, n^{l-1}x, -n^{l-1}x)$$
(3.11)

for all  $x \in X$ . It follows from (3.11) and the triangle inequality that

$$\left\|\frac{\Im(n^{k}x)}{n^{k}} - \Im(x)\right\| \leq \frac{1}{n} \sum_{l=0}^{k-1} \frac{1}{n^{l}} \theta\left(n^{l}x, -n^{l}x, n^{l}x, -n^{l}x, \cdots, n^{l}x, -n^{l}x\right)$$
(3.12)

for all  $x \in X$ .

Replacing x by  $n^m x$  and dividing  $n^m$  in (3.12), we obtain that

$$\left\| \frac{\Im(n^{k+m}x)}{n^{k+m}} - \frac{\Im(n^mx)}{n^m} \right\|$$
  
  $\leq \frac{1}{n} \sum_{l=0}^{k-1} \frac{1}{n^{l+m}} \theta\left( n^{l+m}x, -n^{l+m}x, n^{l+m}x, -n^{l+m}x, \cdots, n^{l+m}x, -n^{l+m}x \right)$ 

for all  $x \in X$ . Hence the sequence  $\left\{\frac{\Im(n^m x)}{n^m}\right\}$  is a Cauchy sequence. Since Y is complete, there exists a mapping  $A : X \to Y$  defined by  $A(x) = \lim_{m \to \infty} \frac{\Im(n^m x)}{n^m}$  for all  $x \in X$ . Letting  $k \to \infty$  in (3.12), we get that (3.8) holds for  $x \in X$ .

To prove that A satisfies (1.2), replacing  $(x_1, x_2, \dots, x_n)$  by  $\underbrace{(x, x, 0, \dots, 0)}_{n-2-\text{times}}$  and dividing  $(n-2)^n$  in (3.7), we obtain  $\frac{1}{n^k} \|D\Im(n^k x_1, n^k x_2, \dots, n^k x_n)\| \leq \frac{1}{n^k} \theta(n^k x_1, n^k x_2, \dots, n^k x_n)$ 

for all  $x_1, x_2, \dots, x_n \in X$ . Letting  $k \to \infty$  in the above inequality and using the definition of A(x), we obtain that  $DA(x_1, x_2, \dots, x_n) = 0$ . By Lemma 2.1, A is additive.

To show that A is unique, let B(x) be another additive mapping satisfying (1.2) and (3.8). Then

$$\begin{split} \|A(x) - B(x)\| &= \frac{1}{n^k} \left\| A(n^k x) - B(n^k x) \right\| \\ &= \frac{1}{n^k} \left\| A(n^k x) - \Im(n^k x) + \Im(n^k x) - B(n^k x) \right\| \\ &\leq \frac{1}{n^k} \left\| A(n^k x) - \Im(n^k x) \right\| + \frac{1}{n^k} \left\| \Im(n^k x) - B(n^k x) \right\| \\ &\leq \frac{2}{n^{k+1}} \Phi(n^k x, -n^k x, n^k x, -n^k x, \cdots, n^k x, -n^k x) \\ &\to 0 \quad \text{as} \quad n \to \infty \end{split}$$

for all  $x \in X$ . Hence A is unique.

THEOREM 3.2. Let  $\theta: X^n \to [0,\infty)$  be a function such that

$$\Psi(x_1,\cdots,x_n) := \sum_{k=1}^{\infty} n^k \theta\left(\frac{x_1}{n^k},\frac{x_2}{n^k},\cdots,\frac{x_n}{n^k}\right) < \infty$$

for all  $x_1, x_2, \dots, x_n \in X$ . Let  $\Im : X \to Y$  be a mapping satisfying (3.7). There exists a unique additive mapping  $A : X \to Y$  which satisfies

$$\|\Im(x) - A(x)\| \le \frac{1}{n}\Psi(x, -x, x, -x, \cdots, \cdots, x, -x)$$

for all  $x \in X$ . The mapping A(x) is defined by

$$A(x) = \lim_{k \to \infty} n^k \Im\left(\frac{x}{n^k}\right)$$

for all  $x \in X$ .

*Proof.* It follows from (3.9) that

$$\left\|\Im(x) - n\Im\left(\frac{x}{n}\right)\right\| \le \theta\left(\frac{x}{n}, -\frac{x}{n}, \cdots, \frac{x}{n}, -\frac{x}{n}\right)$$

for all  $x \in X$ .

The rest of the proof is similar to the proof of Theorem 3.1.  $\Box$ 

The following corollary is an immediate consequence of Theorems 3.1 and 3.2.

COROLLARY 3.3. Let  $\lambda$  and  $\gamma$  be positive real numbers with  $\gamma \neq 1$ . Let  $\Im: X \to Y$  be a mapping satisfying the inequality

$$||D\Im(x_1, x_2, \cdots, x_n)|| \le \lambda \sum_{i=1}^n ||x_i||^{\gamma}$$
 (3.13)

for all  $x_1, x_2, \dots, x_n \in X$ . Then there exists a unique additive mapping  $A: X \to Y$  such that

$$\left\|\Im(x) - A(x)\right\| \le \frac{n\lambda \|x\|^{\gamma}}{|n - n^{\gamma}|}$$

for all  $x \in X$ .

### 4. Stability results for odd positive integers in (1.2)

In this section, we obtain the Hyers-Hyers stability of the functional equation (1.2) for odd positive integers. Assume that n is odd.

THEOREM 4.1. Let  $\theta: X^n \to [0,\infty)$  be a function such that

$$\Phi(x_1, \cdots, x_n) := \sum_{k=0}^{\infty} \frac{\theta\left((n-1)^k x_1, (n-1)^k x_2, \cdots, (n-1)^k x_n\right)}{(n-1)^k} < \infty$$

for all  $x_1, x_2, \dots, x_n \in X$ . Let  $\Im : X^n \to Y$  be an odd mapping satisfying (3.7). There exists a unique additive mapping  $A : X \to Y$  which satisfies

$$\|\Im(x) - A(x)\| \le \frac{1}{n-1} \Phi(x, -x, x, -x, \cdots, x, -x, 0)$$
(4.14)

for all  $x \in X$ . The mapping A(x) is defined by

$$A(x) = \lim_{k \to \infty} \frac{\left((n-1)^k x\right)}{(n-1)^k}$$

for all  $x \in X$ .

*Proof.* Since  $\Im$  is odd,  $\Im(0) = 0$ .

Letting  $(x_1, x_2, \dots, x_{n-1}, x_n) = (x, -x, x, -x, \dots, x, -x, 0)$  in (3.7), we have

 $\|\Im((n-1)x) - (n-1)\Im(x)\| \le \theta(x, -x, x, -x, \dots, x, -x, 0)$  (4.15) for all  $x \in X$ . It follows from (4.15) that

$$\left\|\frac{\Im((n-1)x)}{n-1} - \Im(x)\right\| \le \frac{1}{n-1}\theta(x, -x, x, -x, \cdots, x, -x, 0) \quad (4.16)$$

for all  $x \in X$ . Replacing x by  $(n-1)^{l-1}x$  in (4.16) and dividing by  $(n-1)^{l-1}$ , we obtain

$$\left\|\frac{\Im((n-1)^{l}x)}{(n-1)^{l}} - \frac{\Im((n-1)^{l-1}x)}{(n-1)^{l-1}}\right\|$$
(4.17)

$$\leq \frac{1}{(n-1)^{l}} \theta((n-1)^{l-1}x, -(n-1)^{l-1}x, \cdots, (n-1)^{l-1}x, -(n-1)^{l-1}x, 0)$$

for all  $x \in X$ . It follows from (4.17) and the triangle inequality that

$$\left\|\frac{\Im((n-1)^{k}x)}{(n-1)^{k}} - \Im(x)\right\|$$
(4.18)

$$\leq \frac{1}{n-1} \sum_{l=0}^{k-1} \frac{1}{(n-1)^l} \theta\left( (n-1)^l x, -(n-1)^l x, \cdots, (n-1)^l x, -(n-1)^l x, 0 \right)$$

for all  $x \in X$ .

Replacing x by  $(n-1)^m x$  and dividing  $(n-1)^m$  in (4.18), we obtain that

$$\begin{split} & \left\| \frac{\Im((n-1)^{k+m}x)}{(n-1)^{k+m}} - \frac{\Im((n-1)^mx)}{(n-1)^m} \right\| \\ & \leq \frac{1}{n-1} \sum_{l=0}^{k-1} \frac{1}{(n-1)^{l+m}} \theta \\ & \times \left( (n-1)^{l+m}x, -(n-1)^{l+m}x, \cdots, (n-1)^{l+m}x, -(n-1)^{l+m}x, 0 \right) \end{split}$$

for all  $x \in X$ . Hence the sequence  $\left\{\frac{\Im((n-1)^m x)}{(n-1)^m}\right\}$  is a Cauchy sequence. Since Y is complete, there exists a mapping  $A : X \to Y$  defined by  $A(x) = \lim_{m \to \infty} \frac{\Im((n-1)^m x)}{(n-1)^m}$  for all  $x \in X$ . Letting  $k \to \infty$  in (4.18), we get that (4.14) holds for  $x \in X$ .

The rest of the proof is similar to the proof of Theorem 3.1.  $\hfill \Box$ 

THEOREM 4.2. Let  $\theta: X^n \to [0,\infty)$  be a function such that

$$\Psi(x_1, \cdots, x_n) := \sum_{k=1}^{\infty} (n-1)^k \theta\left(\frac{x_1}{n^k}, \frac{x_2}{(n-1)^k}, \cdots, \frac{x_n}{(n-1)^k}\right) < \infty$$

for all  $x_1, x_2, \dots, x_n \in X$ . Let  $\Im : X \to Y$  be an odd mapping satisfying (3.7). There exists a unique additive mapping  $A : X \to Y$  which satisfies

$$\|\Im(x) - A(x)\| \le \frac{1}{n-1}\Psi(x, -x, x, -x, \cdots, \cdots, x, -x, 0)$$

for all  $x \in X$ . The mapping A(x) is defined by

$$A(x) = \lim_{k \to \infty} (n-1)^k \Im\left(\frac{x}{(n-1)^k}\right)$$

for all  $x \in X$ .

*Proof.* It follows from (4.15) that

$$\left\|\Im(x) - (n-1)\Im\left(\frac{x}{n-1}\right)\right\| \le \theta\left(\frac{x}{n-1}, -\frac{x}{n-1}, \cdots, \frac{x}{n-1}, -\frac{x}{n-1}, 0\right)$$
for all  $x \in X$ .

The rest of the proof is similar to the proofs of Theorems 3.1 and 4.1.  $\hfill \Box$ 

The following corollary is an immediate consequence of Theorems 4.1 and 4.2.

COROLLARY 4.3. Let  $\lambda$  and  $\gamma$  be positive real numbers with  $\gamma \neq 1$ . Let  $\Im : X \to Y$  be an odd mapping satisfying (3.13) Then there exists a unique additive mapping  $A : X \to Y$  such that

$$\|\Im(x) - A(x)\| \le \frac{(n-1)\lambda \|x\|^{\gamma}}{|(n-1) - (n-1)^{\gamma}|}$$

for all  $x \in X$ .

## References

- J. Aczel and J. Dhombres, *Functional Equations in Several Variables*, Cambridge University Press, Cambridge, 1989.
- [2] T. Aoki, On the stability of the linear transformation in Banach spaces, J. Math. Soc. Japan 2 (1950), 64–66.
- [3] E. Baktash, Y. Cho, M. Jalili, R. Saadati and S. M. Vaezpour, On the stability of cubic mappings and quadratic mappings in random normed spaces, J. Inequal. Appl. 2008 (2008), Article ID 902187.
- [4] I. Chang, E. Lee and H. Kim, On the Hyers-Ulam-Rassias stability of a quadratic functional equations, Math. Inequal. Appl. 6 (2003), 87–95.
- [5] P. W. Cholewa, *Remarks on the stability of functional equations*, Aequationes Math. 27 (1984), 76–86.
- [6] S. Czerwik, On the stability of the quadratic mapping in normed spaces, Abh. Math. Sem. Univ. Hamburg 62 (1992), 59–64.
- [7] D. H. Hyers, G. Isac and Th. M. Rassias, *Stability of Functional Equations in Several Variables*, vol. 34, Progress in Nonlinear Differential Equations and Their Applications, Birkhäuser, Boston, 1998.

- [8] M. Eshaghi Gordji and H. Khodaie, Solution and stability of generalized mixed type cubic, quadratic and additive functional equation in quasi-Banach spaces, Nonlinear Anal. 71 (2009), 5629–5643.
- K. Jun and H. Kim, The generalized Hyers-Ulam-Rassias stability of a cubic functional equation, J. Math. Anal. Appl. 274 (2002), 267–278.
- [10] C. Park, Hyers-Ulam-Rassias stability of homomorphisms in quasi-Banach algebras, Bull. Sci. Math. 132 (2008), 87–96.
- [11] C. Park and J. Cui, Generalized stability of C\*-ternary quadratic mappings, Abs. Appl. Anal. 2007 (2007), Article ID 23282.
- [12] C. Park and A. Najati, Homomorphisms and derivations in C<sup>\*</sup>-algebras, Abs. Appl. Anal. 2007 (2007), Article ID 80630.
- Th. M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Am. Math. Soc. 72 (1978), 297–300.
- Th. M. Rassias, On the stability of the functional equations in Banach spaces, J. Math. Anal. Appl. 251 (2000), 264–284.
- [15] Th. M. Rassias, Functional Equations, Inequalities and Applications, Kluwer Acedamic Publishers, Dordrecht, Bostan, London, 2003.
- [16] S. M. Ulam, Problems in Modern Mathematics, Science Editions, Wiley, New York, 1964.

#### Vediyappan Govindan

Department of Mathematics, Sri Vidya Mandir Arts & Science College Katteri, Uthangarai, Tamilnadu 636902, India *E-mail*: govindoviya@gmail.com

## Jung Rye Lee

Department of Mathematics, Daejin University, Pocheon 11159, Korea *E-mail*: jrlee@daejin.ac.kr

## Sandra Pinelas

Departamento de Ciências Exatas e Engenharia, Academia Militar, Portugal *E-mail*: sandra.pinelas@gmail.com

### Abdul Rahim Noorsaba

Department of Mathematics, Government Arts College (Men) Tamilnadu, India *E-mail*: noorsabaa94@gmail.com

#### Ganapathy Balasubramanian

Department of Mathematics, Government Arts College (Men) Tamilnadu, India *E-mail*: gbs\_geetha@gmail.com